Year 7 Spreadsheets Homework #6

What you have to do

Here is the Summer Fair spreadsheet when it has been completed.  Use the spreadsheet to answer the questions below it.
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1| Summer fair

2

3 |Expenses

4 [item Cost Quantity Sub total

5 [Food

6 [Harnburgers (box of 12) £ 450 60[£ 36000
7_[Chips (packet of & portions) £ a8 100[£_380.00
8 [Bread ralls (packet of 12) £ 1 g0[£ 13600
9 |Drinks (box 8 cans) £ 0 100[£__ 7500
10 |Equipment

11 |Hire of bouncy castle (perday) £ 90.00 o[£ fs0o0
12 |Hire of tent (per day) £ 12000 o[£ 2a000
13 |Hire of sound system £ 6000 o[£ 12000
14

15 Total expenses| £ 54000
16

17 |Income Price  Quantity Subtotal

18 |Tickets (aduts) £ 200 40060000
18 [Ticket (childrer) £ 150 600[ £ 50000
20 Hamburger (each) £ 050 750[£ 37500
21 |Chips (per portion) £ 040 750[£ 30000
22 |Drinks (per can) £ 02 750[£_187.50
FE]

24 Total income[[£ 256250
%

% Balance[ £ 20122 50





	1. 100 boxes of hamburgers are needed.  

Which cell would you have to change?
	

	2. The hire of the bouncy castle goes up to £100 per day.

Which cell would you have to change?
	 

	3. Children are only charged £1 to come to the Fair.

Which cell would you have to change?
	

	4. 523 adults actually came to the Fair

Which cell would you have to change?
	

	5. You changed the number of boxes of hamburgers.

Does the sub-total in D6 go up or down?
	

	6. You changed the cost of the hire of the bouncy castle.

Does the sub-total in D11 go up or down?
	

	7. You have made these two changes (hamburgers and castle).

Do the Total expenses in D15 go up or down?
	

	8. You changed the price of the children’s ticket.

Does the subtotal in D19 go up or down?
	

	9. You changed the number of adults who came.

Does the balance in D26 go up or down?
	








